
Team Assignment 8

Team Number and Initials

1. Design a Turing machine that decides if its input is in the form a∗b∗c∗.

2. Design a Turing machine that decides whether its input is odd length and contains a 0 as
the middle symbol.

3. Design a Turing machine that decides the language
{x#y | x and y binary numbers, and x ≥ y}



4. Design a Turing machine which can increment binary numbers. The tape starts loaded
with a binary number. The machine should replace the number with one that is 1 greater
and halt.

5. Design a Turing machine which reverses its tape. For instance if the tape begins with
"11001", the Turing machine should replace it with "10011" and then halt.

6. Design a Turing machine which can add two binary numbers. The tape starts loaded
with two binary numbers separated by a + symbol. The machine should replace this
input with the sum and then halt.


